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R é p o n s e s

1. B

2. C

3. B

4. B

5. C

6. B

7. D

8. B

9. C

10. B

11. C

12. C

Quelle lettre représente le mieux l'opération manquante de la série.

1) 53 + 42 = 95

42 + 53 = 95

95 - 53 = 42

95 - 42 = 53

A. 96 - 42 = 54

B. 95 - 42 = 53

C. 137 - 53 = 84

D. 54 + 42 = 96

2) 759 + 209 = 968

209 + 759 = 968

968 - 759 = 209

968 - 209 = 759

A. 209 + 968 = 759

B. 759 + 968 = 209

C. 968 - 209 = 759

D. 969 - 209 = 760

3) 2 + 7 = 9

7 + 2 = 9

9 - 2 = 7

9 - 7 = 2

A. 16 - 2 = 14

B. 9 - 7 = 2

C. 9 - 7 = 7

D. 9 - 2 = 2

4) 36 + 11 = 47

11 + 36 = 47

47 - 36 = 11

47 - 11 = 36

A. 11 + 47 = 36

B. 47 - 11 = 36

C. 47 - 11 = 11

D. 37 + 11 = 48

5) 589 + 53 = 642

53 + 589 = 642

642 - 589 = 53

642 - 53 = 589

A. 642 + 53 = 695

B. 695 - 589 = 106

C. 642 - 53 = 589

D. 53 - 642 = 589

6) 9 + 4 = 13

4 + 9 = 13

13 - 9 = 4

13 - 4 = 9

A. 13 - 9 = 9

B. 13 - 4 = 9

C. 13 + 4 = 17

D. 17 - 9 = 8

7) 25 + 58 = 83

58 + 25 = 83

83 - 25 = 58

83 - 58 = 25

A. 141 - 25 = 116

B. 84 - 58 = 26

C. 83 + 58 = 141

D. 83 - 58 = 25

8) 706 + 245 = 951

245 + 706 = 951

951 - 706 = 245

951 - 245 = 706

A. 707 + 245 = 952

B. 951 - 245 = 706

C. 245 - 951 = 706

D. 951 - 706 = 706

9) 17 + 2 = 19

2 + 17 = 19

19 - 17 = 2

19 - 2 = 17

A. 18 + 2 = 20

B. 19 - 17 = 17

C. 19 - 2 = 17

D. 17 + 19 = 2

10) 80 + 14 = 94

14 + 80 = 94

94 - 80 = 14

94 - 14 = 80

A. 95 - 14 = 81

B. 94 - 14 = 80

C. 14 + 94 = 80

D. 80 + 94 = 14

11) 794 + 140 = 934

140 + 794 = 934

934 - 794 = 140

934 - 140 = 794

A. 935 - 140 = 795

B. 794 + 934 = 140

C. 934 - 140 = 794

D. 140 - 934 = 794

12) 19 + 1 = 20

1 + 19 = 20

20 - 19 = 1

20 - 1 = 19

A. 20 - 1 = 1

B. 20 + 1 = 21

C. 20 - 1 = 19

D. 1 + 20 = 19
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